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Question Number : 1 Question Id : 4928631441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

The genus Solanum includes the following species.
1) S melongena

1) S indica

1) S aestivum

v) S nigrum

& 1808 réhod® D Ferdo Herd ST
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The correct answer is
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Options:
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Question Number : 2 Question Id : 4928631442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Edible fruiting bodies called basidiocarps are produced by

BARrTHw olaud 85EhS JoTorod ad)d T

Options:



Saccharomyces

FPO D0

Claviceps

572 ared)
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Puccinia

54) Dol

Agaricus
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Question Number : 3 Question Id : 4928631443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The following plants are associated with human health care and Bio-diesel production
respectively.

% (800 300K ©* VD LD SrES by SEat $o8a50 BPERS Sc5r08 &kyteron

Options:

Jatropa and Chlorella
(e $obasn o

Rubber and Pongamia

Gendy 08cdy Fomdoalr

Chlorella and Arnica

.f"ﬁg Sobado ed)s



Digitalis and Jatropa
B2érdS 50050 @S
4. v

Question Number : 4 Question Id : 4928631444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The major pigments present in the members of Rhodophyceae are

TERNS” o Prd Ig@ages
Options:
Chlorophyll a. ¢ and Carotenoids
§6»6 a. ¢ Hododoo T8k
1 #
Chlorophyll aandb
§6°0S adobasn b
2 ®
Chlorophyll a. d and Phycoerythrin
5608 a. dSbdosn HE0GD
3¢
Chlorophyll a and Phycocyanin
§60S a Hobodn PEV0IS

4 W

Question Number : 5 Question Id : 4928631445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Members of Phacophyceae possess
1)  Gelatinous coating of algin

11) Unequal and lateral flagellae
ii1) Pyrenoids

1v) Phycobilisomes

2] 0.

YA pRS” & ofTrod ool
1) o3 &3 &b ESdo

11) DirS Jodosn F8)5 BTeTen
1) WoTTon&e
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Options:

1 & 11
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Question Number : 6 Question Id : 4928631446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following
ListI

(a) Oryza

(b)  Anacardium

(¢) Datura

(d) Tridax
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The correct answer 1s
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(d
(V)

(d)
(i1)

(d)
(V)

(d)
(1v)

(1)
(i1)
(iii)
(iv)
(V)

(i1)
(iii)
(iv)

ListII
Hesperidium
Dehiscent
Indehiscent
Caryopsis
Cypsela
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Question Number : 7 Question |d : 4928631447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the different parts of bulb of Onion.

@9 oPHI0S G o Hfotek.

Options:

A : Adventitious root B : Stem

C : Apicalbud D: Scale leaf
B
D

A wandy I . 57080
C : o §¢so POl B
1. ®
A : Scale leaf B : Apical Bud
C : Axillary Bud D : Base of scape
A oo ufo B opifdso
. C: (3% §880 D : 95 28arifo
A : Adventitious Root B : Axillary Bud
C : Apical Bud D : Fleshy scale leaf
A wandd 30 B ; @L’J@ Selle
C : g §dgo D : $3cdng drevdoesto

3



A : Fibrous Root B : Axillary Bud
C : Apical Bud D : Base of scape
A o 38 B : f5g &0

C : o §%o D : % adgrio

Question Number : 8 Question Id : 4928631448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

ListI ListII
(a) Jasmine (1) Monochasial cyme
(b) Solanum (11) Dichasial cyme
(¢) Nerium (111) Polychasial cyme
(d) Ipomoea (tv) Cymule

(v) Solitary cyme

& §o& T8 2E28E60s

erde | e 11
(@) S8 (1) EThod o
(b) &erso (1) &gz dad IFSo
(¢) ~8ao (i) FvTPod JFbo
(d) a&alr (V) >drdg 380

(V) 5708 QYo

The correct answer 1s
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Question Number : 9 Question Id : 4928631449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : Insome plants. the seeds germinate while still attached to the mother plant.

Reason (R) : It 1s a strategy to lower the abiotic stress and to ensure successful
establishment of plantlet.

A& (A): FQ) oo’ JgTren SOINE) E LotnEY GHNE Iwe3E.
s¢=0o (R): 28 0D 2.8E SHoWF vl POEIRS' Gydst FEHR I88.

Which of the following is true?
& 1808 TS B DBgH0?
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A)
(A) So8csn (R)Bodr &g 85w (A)8 (R) PBgR D38e
1. ¢
Both (A) and (R) are true. but (R) is not the correct explanation of (A)
(A) 508030 (R)Bodsr D850, 570 (A) § (R) 96038 Dd8 52
o ®
(A) 1s true, but (R) 1s false

(A) D5, 59 (R) obegsm
T W



(A) 1s false, but (R) 1s true

(A) w8550, 57 (R) 98550
4 ®

Question Number : 10 Question Id : 4928631450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Read the following statements:
1)  Pollen grains contain a thin outer layer exine made up of sporopollenin.
i1)  Sporopollenin is an organic material resistant to high temperature and strong acids.
i1i1) Pollen grains are preserved as fossils.
iv)  Consumption of pollen products does not increase the performance of athletes.

& 1Bobh Trgpgod WEH0d

1) Sooftewde wrirgidto Deod God @35“_53‘5:‘&5*3 8y 8o.
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V) I Slapop{ e S5 HLo Hod Trgoirdoo D0T0 FH0gsd EH.

The correct combination is
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1&11
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Identify the false statements :
1)  Endospermis triploid filled with reserved food and nourishes the developing embryo.

ii) The process of formation of pollengrains from megaspore mother cell is called
MEegasporogenesis.

ii1) Two nucleni are formed from functional megaspore by mitotic division and move to
the opposite poles of embryosac.

iv) Atmaturity, a typical angiosperm embryosac contains 7 nuclei and 8 cells.
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The following partial floral formula “Bil, @ . P. G was derived during identification of a
plant. These features indicate that the flower possess

1)  Bracteoles

i1) Inferior ovary

11) Petals

iv) Two equalradial halves when cut in any radial plane allowing to pass through centre of
flower.
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The correct answer is
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Options:
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Question Number : 13 Question Id : 4928631453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Solanaceae family plants are known for

1)  Rhizobial association with roots

ii) Production of cigarettes from leaves
111) Numerous stamens

iv) Seeds are endospermic

FOID Bolwo InH e & oFTo WY
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The correct combination 1s
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Options:
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Question Number : 14 Question Id : 4928631454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Study the following lists

List-1
(a) Mesophyll cells
(b) Tracheid cells
(c) Nerve cells
(d) White blood cells
Bod T8 28VTUod
erda -1
(a) SErogdseren
(b) =THgeren
(c) ~&&eren
(d) Bodgseren

The correct answer 1s
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(d)
(iv)

(d)
(1)

(d)
(i1)

(d)
(iii)

(i1)
(iii)
(iv)

(1)

(i1)
(iii)
(iv)

List-1I
Branched and long

Amoeboid shaped
Round and oval

Elongated
Long and narrow

e - 11
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Question Number : 15 Question Id : 4928631455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the subunit components from List-I to the corresponding Macromolecules from

808 280G rde-1 § $02008008 T8 RS-l & Ko Jro veoIo 288" Erdok.

List-II.
Fist-1
erfiar - |
H
(@ NH,—C—COOH
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CH,
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. |

(d HO—P—0—CH, g
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The correct answer is

¥0 wowd 2w
Options:
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@v)
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Lipid
FRgen

Starch

woddordo
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Protein

RNA
DNA
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Question Number : 16 Question Id : 4928631456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Match the following

(a) Condensation phase actually 1s the interval between

(b)

(c)

(d)

Sob

(b)

(c)
(d)

List-1

Mitosis and initiation of DNA replication
Decondensation phase in which synthesis proteins
takes place i preparation for mitosis
Replication in which the amount of DNA per cell
doubles
Quiescent stage or inactive stage

T8 2EB5B0s

erdar -1

oAn wam (doidreo) $¥ Sdodef=dss DNA
D858 wlofindse e Sogdged
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The correct answer 1s
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(i1)

(111)

(iv)
(V)

(i1)

(iii)
(iv)
(V)

List-1I
M - Phase

S - Phase
G, - Phase

G, - Phase
G, - Phase

e - 11
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Question Number : 17 Question Id : 4928631457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The cross section of a specimen showed more than six vascular bundles distributed
throughout the ground tissue under microscope. The specimen belongs to

©d8' 80 JrgBB)AS” BBIOoUM B EX) I8 S TIT Yoren JoTroE Enrwod’
Ty Bob &oBd Bdrerio
Options:
Dicot leaf
. Be&ED HiSo
Dicot stem
655{5?{%5)33 500
2 ®
Monocot stem
DESEH: srodo
=94
Monocot Root
DESEDH2 I8

Question Number : 18 Question Id : 4928631458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

One of the following statements 1s not true with reference to the complex tissue Xylem.

T8 D08 awmreodh Howohod, & Bod TP 28 QoG 5.



Options:
1. ¢

It 1s a conducting tissue for water and minerals from leaves and stems to roots.

RN, vdrod JEren BN Frodo Hod IHod PEEn Wodn Emrwo.

It provides mechanical strength to plant parts.

0E), oy oiro@¥ werd) BErEN0E.

It is composed to tracheids. vessels. fibres and parenchyma.

28 TEcrrws, Jeren, Jden HDodadn ;’ma&ioéeawﬂu g@esotuod.

Tracheids do not possess protoplasm.

T Erod” BIVTYo woddh.

Question Number : 19 Question Id : 4928631459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following
List -1
(a) Amphibious plants
(b) Submerged suspended hydrophytes
(c) Mesophytes
(d) Xerophytes

Bod TEQ 2EBES0k
erdle -1
(@) wPods Jng e
(b) 5028 cohEso BodS IS Jnod e
(€) HoGgussy Foog) eo
(d) I@6 Ioog) e

The correct answer 1s
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(iii)
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(1)
(11)
(iii)
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)

List-1I
Tribulus
Barley
Sagittaria
Lemna

Utricularia
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Question Number : 20 Question Id : 4928631460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Following are some of the measures taken to protect pollinators

1)  Reducing the level of pesticide usage

ii))  Discouraging the cultivation of native flowering plants

ii1) Encouraging the planting of native flowers plants in open spaces
iv) Discouraging bee boards and bee boxes

& (508 FQ) dddbwn Jo SodY), 5T e SEmS S8 G $ogen

1) QEATEE Frchoroh GdRriodhbd dhoddo

i) (Fosod YMeB I o Dowtod AWEETDEE0

1) 2rfd HRdos’ (@osoh PHuyed In§ o oD @eirovito
V) 338Ke Dod o, 338K e PDFod ADENTRINL0

The correct combination is
QB HOGD FE¥DoY)
Options:
1n&1v
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Question Number : 21 Question Id : 4928631461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Assertion (A) :  Apoplastic path of water is considered to be non-living path.

Reason (R):  Inapoplastic pathway, water does not move through intercellular spaces
or through the space between cell wall and plasma membrane.

ANSE0 (A): IS By, LFTH Srdo JS Srgorr HKBOBREB.

8o (R): @FTQ Srdod’ B Ko Eerrodordsiod’ ok ST B,

Beadfourad dodly He Bt Ny Hodo Gotnod.

Which of the following is true?
& 1808 TAS® QB HSgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
. (A) J08050 (R)Bodo &g 0805w (A)& (R) P0G30N JH&e
1,

Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(A) 50805 (R)Bodkr Hdgsn, 520 (A) & (R) 86508 58 56
o W

(A) 1s true, but (R) 1s false

(A) 385500, 570 (R) eddgadan
3 v

(A) 1s false, but (R) 1s true

(A) RS0, 5 (R) STty
4 %

Question Number : 22 Question Id : 4928631462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Bronzing in legumes and whiptail in cauliflower are the physiological diseases caused due
to the deficiency of the micronutrients.

i) Cu i1) B
i) Cl iv) Mo

Eoir)E F7gGoBl Bigand” prrozof Ho8odn §7OR80S” BEm &% argien SrE)
Fasren §Ho Hod Seorheron

iy Cn iy B

i) Cl iv) Mo

The correct order of combination
20 HSHdS* SsTsvubs PEJ0N)
Options:
1 and i1 respectively

13508080 11 S8Hm

11 and 111 respectively

11 S5o8adbo il SKdm

111 and 1v respectively

_ o 1 So0asw iV S6dm

1and 1v respectively

1508030 1V SBH&m
4 ®

Question Number : 23 Question Id : 4928631463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Velocity of Reaction (V)

E

[b]

=]

In the above figure representing an enzvme catalysed reaction ‘a” and ‘b’ respectively are

2 aYI HLoS" ‘a7 DB DT o ISED SB)0E I SWIm drdoTwdod
Options:
Michaelis Menten constant and substrate concentration

DBOS-HEBS Joroko HBaSn BILITY MBS
1V | C

- |
E"vﬂm and K
- |
Eﬂ'm S000%0 K,

1

Evm""x and substrate concentration

] T
2 Vi S00050 eSPHTY mES

K_, and [E]

L K, %085 [E]

Question Number : 24 Question Id : 4928631464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In Calvin cycle interconversion of G-3-P and DHAP i1s catalysed by

5918 J0doe” G-3-P 500w DHAP © H53)8 S50180 28 w4 @)5dddgod

Options:

Transketolase

@r%ééﬁ*@a‘é_
1. %
Aldolase
et SE

(]

Triose phosphate 1somerase
B RBE&- @""‘é&g)éﬁ ORIV E
. v
Ribose-5-phosphate 1somerase
Eeiﬁiv-ﬁ-ﬂf'bo)éf DRPOE

Question Number : 25 Question Id : 4928631465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

One of the following combinations is correct with reference to photosynthesis

88maSgdodBrH§oir S8orim & (o TS wE $FFdo HBRIE
Options:
C, pathway. PEP. RuBisCo

. C; 30, PEP, RuBisCo
1.

Pea. RuBP. RuBisCo

23o7e5, RuBP. RuBisCo
o



Maize, RuBP. Mesophyll cell

. 3008)°S), RuBP, Jigrodd gea0

3 -
Pea. PEP. PEP carboxylase
2o°ed, PEP, PEP s°om§,8&

4 %

Question Number : 26 Question Id : 4928631466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The conversion of 1. 3-Biphosphoglyceric Acid (BPGA) to Phosphoglyceric Acid (PGA)
1S an

1.3

Pl

@*%Qzﬁag @;’Jgu if’@";l

[ ]

12205 ©008 Ir0\& o8

Options:

Energy releasing process

8 D Wk nlefy

1. ¢
Energy requiring process
¥8 ©I36Td g

o % -

autotrophic process

PLOVOFRE WG

o R

endothermal process

Quﬁiqﬁcﬁgﬁ S8
E

Question Number : 27 Question Id : 4928631467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The chemical reaction which results in respiratory ratio of 0.7 1s

0.7 8o A8 1d) $rchE K85 26?7

Options:

Oxalosuccinic acid —— o-ketoglutaric acid + CO,

ssS O8RS sHho — o- §&°Kreres wdio + CO,

1%

Tripalmitin + O, —— CO, + H,0 + Energy

EF08S +0, — CO, +H,0 +48
>

Pyruvic acid + CoA+NAD"™ —— Acetyl CoA+CO,+NADH+H"

D8 esdo + CoA+NAD™ —— Acetyl CoA+CO,+NADH + H*
z % -

Glucose + O, —— CO, + H,O + Energy

4 %

Question Number : 28 Question Id : 4928631468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Match the following
List-1
(a) Gibberellins
(b) Skoogand Miller
(¢) Cousms
(d) Naphthaleneacetic acid

& od T8 wEHGTod
erder -1

(@) 2BdJen

(b) Do A Soboin b

() 8=ag

(d) TLOS @B esdvo

The correct answer 1s

D8 LoD 23T
Options:

@ ® © @
e @) G v @

(@ @® (@© @
Lx @ ) (v (1)

@ ® © @
L@ ® G G

@ @® (@© (@
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(i1)
(ii1)
(1v)
V)

(1)
(i1)
(iii)
(iv)
V)

List-1I

Release of volatile substance from ripened fruits
Bakanae disease

Auxin

Induction of dormancy

A modified form of adenine. a purine.

e -11
H8co BodY Heore Hod a}"&g%’m :}TQD Dedade
08I 3758



Question Number : 29 Question Id : 4928631469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : For cell-to-cell contact. the donor cell designated F™ produces the pilus
that makes contact with the recipient cell known as an F~ cell.

Reason(R) : The donor cell is called F~ because it produces the pilus.

QB0 (A): B@08 Swo dob 55, F7 e Hoded ovdino DORD bdgda@o&.
wwold F odad [firddnod efdod.

8o (R): TEE00 DOVH G0 s A FT woird.

Which of the following is true?
& 1808 TS’ B dEgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) H00050 (R)Bodr D&gh0 2805w (A)8 (R) 208308 Db

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
. (A) 508050 (R)Bodsr &85k, 570 (A) § (R) 985308 D80 500
Z.
(A) 1s true. but (R) 1s false
. (A) S&gdo0, 50 (R) eddgsn
=
(A) 1s false, but (R) 1s true
. (A) 2850, 520 (R) degabn

4
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Correct: 1 Wrong: 0



Assertion (A) : Lambda phages cause lysis and death of the host cells. when they multiply.

Reason (R) : Phage DNA upon penetration into E.coli cells get integrated mnto the
bacterial DNA and remains inactive.

QPS50 (A): ol e 358 Boh&adydyeo, S&FTo Bereod Sﬁtﬁp Do J*¥do
w0 (R): & DNA, E.coli o™ @ddo B28 $Had, er§dasre DNA '8
DIrEOST MoQomr ol Eob.

Which of the following is true?
& 1808 TIST A8 DBgRH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
- (A) 508030 (R)Todor Sdgadan 00w (A)8 (R) 205308 dbden

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)

. (A) So8csn (R)Boder d8gb0, 520 (A) 8 (R) 38508 didee 52

(A) 1s true, but (R) 1s false
. (A) 2530, 577 (R) edegadon
(A) 1s false, but (R) 1s true

(A) @é@’gcﬁw* 7 (R) ﬁégs’m
4
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In order to know the genotype of a dominant phenotype. it 1s crossed with a recessive
parent. The cross resulted in 50% of recessive phenotypes. The genotype of the dominant
phenotype used in the test cross 1s

E:m’tr*p'eﬁ Cﬁ;}%‘fgx’bﬂ’éo B8, aéﬁagdré‘-‘ﬁh Se005 HeTrQ8s Eoé%ﬁiﬂ:’ 280 Ho8dmo 20,

& $088 0" 50% wodgs Syigdraran SoEowron. & H8EH0EYR0S® GHRTIoNS
28 SyEgdrdo B, 2dogdrdo 67

Options:

o Ww

WW

o R

WWw

incomplete dominant genotype

WR0YY wrdd 280g8NH0
4 ® g i

Question Number : 32 Question Id : 4928631472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A cross between homozygons red-flowered plant and a homozygous green flowered plant
resulted in a yellow flowered F, plant. The phenomenon is

2.8 Ddoasni) IBYTres o ¥, 8 SN0 sRJFHIres fo I8 & dosd0o

=

2008, HoPdord Pirmyen Ko F; 3ng), dogodod. ad O Syichciosn?

Options:
Co-dominance

o eaﬁrﬂﬁﬁééngo
1. % "

Incomplete dominance

20 e e B g
- VR0 wardEdo



Epistasis
ADTHS

5 ®

Dominance

a&bééé@go
4. % rl

Question Number : 33 Question Id : 4928631473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : DNA i1s a long polynucleotide chain composed of four different nitrogen
bases ! A. T.U&C.

Reason (R) : The stacking of base pairs one over the other and the pairing of bases from
two strands through hydrogen bonds stabilize the double helical structure
of DNA.

AE0 (A): DNA Tenid 85788 e sgoren A, T, U, C §0Ac5nS) a8 rd3S
FOSrERIrBE T en.

8o (R): gréader a8 8 w88 §rdE $0805n BodorTeS® Froren wriEEd
208T0R 2dirdlo Jod Iyersd DNA Q 3508308.

Which of the following is true?

& 1808 TAS® B DBgB0?

Options:
Both (A) and (R) are true and (R) is the correct explanation of (A)
(A) 508050 (R)Bodr Hégsn S0asn (A)8 (R) 90508 25860

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(A) 58050 (R)Bodr dégs0, 522 (A) 8 (R) H050$ D58 5760

o W
(A) 1s true, but (R) 1s false

(A) 38552, 52 (R) b85S
= W



(A) 1s false. but (R) 1s frue

(A) 38550, 20 (R) g0
4. ¢

Question Number : 34 Question Id : 4928631474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following statements is correct?

& Trgpged” Q8 2887

Options:
1. %

The energy required for replication of DNA is not from deoxyribonucleotide
triphosphate

DNA $85)88 s50bd #§ &edBa'sriihps B0 o0l dodd

Replication of leading strand is discontinuous process

@’:r,?.?ﬁ;"_a_:ﬁj oFLS @Eaé;}éa Jjﬂth@;:@oﬁa
o ®

Replication of lagging strand is continuous process

D08y FS @'::.e?’_%ég"‘ @;'Jﬁths'n@’:@oﬁ:
3 ®

RNA primer 1s required for initiation of DNA replication
DNA 858 (Fdodo witrds RNA 250 vdido
4.
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Read the following statements and choose the correct option.

(1) Tailing: addition of adenylate residues at 5-end in a template independent
manner

(11) Promotor : is the site recognised by the RNA polymerase in association with “p°
factor

(111) Division of

labour : RINA polymerase I and RNA polymerase IIT are responsible for 18S
rRNA and tRNA transcription respectively
(iv) Capping: addition of methyl guanosine triphosphate at the 5'-end of hn-RNA

& 8ob Trgpgodn WO 0TS Frgpgods Hgolod
(1) FOLEITBAS

(Tailing): ©&I0S oidrw 5-EIDod dFogor B LIsTow
(1) H3reas : RNA 9353& “p’ factor &° 00 Spard) Ho8ody0d
(1) FSodgas : RNA >9558& [508050 RNA FO5:8& I RNA es:08par8 S8dm

EgE DT Arow

(1v) s*20f : WFS MIS @@‘7‘" 0:165_ hn-RNA 5'85¢5° 8rdaron

The correct combination is
B DO J¥JoD)
Options:

1&11

1%

1 & 111
o ®

1 & 1v
3

&1
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The larger DNA fragment which is resulted upon digestion of PBR322 using Pstl and Pvull
is ligated with a DNA insert and transformed to E.coli cells.

Pstl 5605 Pvull o &&@rhod PBR3223 #gosm $Q)8 g DNApo&ed), DNA
S00%,8° (insert) 28569, E.coli §m7eT’8 50385 B.

Assertion (A) : E.coli colonies harbouring recombinant vector cannot be obtained on
tetracyclin-agar plates on spreading.
Reason (R) : Because, part of the ampR gene has been deleted while cloning the insert.

PRSI0 (A): HSYoBras Tdrfo A 2] E.coli oo Bgrpse omd “’gég‘f_
DRBODE W TR FodBHw.
8o (R): Qo808 Pode Q) §U0A WIS, aMpR £ &) erifo suIchabod.

Which of the following is true?
& 1808 TRS* I DBgB0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
y (A) 00080 (R)Bod 98550 w00 (A)§ (R)$0GS J56w

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)

(A) o880 (R)Bodr $858», 52 (A) 8 (R) H8508 956 &>
2

(A) 1s true. but (R) 1s false

L (8) 88550, 2 (R) edsgsn
=,



(A) 1s false, but (R) 1s true

(A) w8550, 59 (R) gk
E

Question Number : 37 Question Id : 4928631477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The some of the following are the desirable features to facilitate cloning of a DNA insert
into a vector.

1) BamHIsite

11)  Selectable marker

i11) Ori

iv) High molecular weight

& 8o 78S §J) DNA poderd) oirgod®S §0A Doirdsd shevd ofren
1) BamHIgsSo

1) Pofad 6,6
i11) Ori

V) 28935 wmoerdo

The correct combination 1s
A8 H8Bd o¥oY

Options:
1 &1
” 1n& i

& iv

1 & 111
4 ®
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Following are some of the biosafety and ethical 1ssues of genetically engineered crop

plants :

1)  There is no fear of transferring allergins or toxins to humans as side effects since
specific genes are selected.

ii)  There is a risk of gene pollution due to transfer of the new genes into wild-type
plants.

1i1) Transgenics pose a harmful effect on biodiversity and have an adverse impact on
environment.

iv)  There is no risk of changing the fundamental nature of crop plants.

Q) 20y Srdroddo Bobd JobdwE) © GDnE), BIFEE Hndoin I88 Jddgewn HMDD

RAIIE

1) ©8g8 2dgPhod ITdoFboded IrdYos® vudd BE wr§)d aduronoYe
2o S S,

1) S8gRnGH od 54 adgIe aderanod ol algserigo Pdrdo wotood.

iii) ErQug) ol 25JIEges” HErEES oferer JNHE Teddno 6 Werdo
S,

V) ddgawho FFrde ofmre Srde RErdo wodd.

The correct combination is

A8 DO Jo¥DoY)

Options:

1.

2.

®

®

3 v

4.

#®

111, 1v & 111

L& 1v

1 & 1

1'4& iV
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Match the crop varieties developed by hybridization and selection, with the corresponding
diseases they are resistant to

List-1 List-1I
(a) Brassica-Swarnim (1) Blackrot
(b) Cowpea-Komal (11) Leaf curl
(¢) Cauliflower-Shubhra (111) White rust
(d) Chilli-Sadabahar (1v) Bacterial blight

(v)  Stripe rust

e - [ &°0 Jogdmdn Db S¥edn T @-é}é’&;}% Do TLHAGTEE Sob
Emézrﬂds*’ﬂnéﬁ:. e - Il &° T7¢38 Hozodods J“Sdﬁoﬂiﬂf 2dH8Tod.

e -1 ade -11
(@) Erese-d580 (1) Seossy
(b)) Fe&h-570d (11) esdododd
(€) 50RN6-HEs (iil) Bpsoosodo Biben
(d) 83-daT2srs (iv) er§Bcd BES

(V) orde $oodod den

The correct answer 1s

98 oN 20

Options:

(@ @® (@ @
() @@ av) (i)
1 #

@@ @® (@ (@
>« () (W () @)

@ @O © @
L, W G) GV (i)



@ ® © @
L ) @ O @

Question Number : 40 Question Id : 4928631480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Micro-propagation is useful
i)  torecover healthy plants
11)) To generate new species
ii1) To multiply genetically uniform population
iv)  To produce heterozygous plant

D8 TG HAIE SHRBrRHBIHR 0

1) e&Hg8dds Jn ol 8BATFoELTIS

1) Sdardod GéHHo Tobiras

111) 2gddomr o8 JEom wok adToEd J)f Voot
V) DRHoosnr) Ingod ¢éE Dol

The correct combination is

A8 HBGD ¥

Options:
1 & 11
1.
1 & 111
2
11 & 11
3 ®
Lo WM&V
Loology
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Question Number : 41 Question Id : 4928631481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is an acoelomate

o

80od Tr3e* B F6E K8 e £

(14

Options:
Ascaris lnmbricoides

B0 wo@sronke

Taenia solium

Enterobius

€5

O

Nereis

o
{‘JE'(\J
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Match the following species with their scientific name :

List-1 List-1I
(a) Theblackbuck (1)  Ailurus ochraceus
(b) Pygmy hog (11) Antelope cervicapra
(c) Kashmir stag (111) Sus salvanius
(d) RedPanda (av) Cervus elaphus hanglu

Bod T 28HEB0s

o -1 erda - 11
a 20 1 iR eETOAOR
(@) &R=os (i) ey (Fmoa
(b) Sodorozy Dok (1) alrode™™ DOgs
(¢) 51’31&& coay (i11) I8 FSrIab
o V) RE0D Jderdo Ffokd
d) ¢ & (V) DS e Soord

The correct answer 1s

o0 2000 2Tz

Options:
@ ® (@ @
L@ ) () Gv)

@ ® (© @
- (11) (1) (1) (1)

@ ® (@ @
. (i} (@) (1) (1v)

=3

@ ® (@© (@
Lx @) ) @ @)

Question Number : 43 Question Id : 4928631483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

The first animals which exhibit *“Tube with in a tube™ organisation are

‘THod’D o Sfarardy @Efow JudEd zod DBwTaiEb?
Options:
Acoelomates

2563085,

Pseudocoelomates

Sorg & ’_’o;afﬁ""ﬁo&%

o W
Enterocoelomates
QoS B0

T R
Schizocoelomates
Ee%‘fb S B0

4 %

Question Number : 44 Question |d : 4928631484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following type of neurons are found in the ‘retina’ of humans

& Bod & SES Srgoraen SrdPHR Sod BBTS® EIDoTD

Options:



{
P
T

A
R

Question Number : 45 Question Id : 4928631485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Match the following with reference to earthworm

List-1 List-1I
(a) 4 - 6% segments (1) Cmgulum
(b) 14 - 16™ segments (11) Stomoch
(c) 9 -14% segments (111) Blood glands
(d) 10 - 11% segments (iv) Testes

TRHTHNE S020H0NF & fod TAV 2EDHBIWRW

erfee - 1 e - 11
(@) 4-6pokoren (1) Soheo
(b) 14 - 16po&aren (i) Zgrdododo
(c) 9-ldzpcéeos (i11) SEHodoen
(d) 10-11podews (iv) Soodr en

The correct answer is
58 oS 2aven

Options:

@ ® () @
1.w(ﬂ} () (@) V)

@ ® @© (@
, % @O (@ v (@)
@ ® @© @
sx (@) (@ () (1)
@ @® @© @
a4 (111) (1) (1)  (v)

Question Number : 46 Question Id : 4928631486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Statement (S) : The foot of siphonopoda 1s modified into 8 or 10 arms. A part of the foot
is also modified into a siphon

Reason (R) : Themodification of foot into siphon facilitates to escape from the predators

Fswg (S): RITIE Yo’ Fid0 8 So 10 ghereor Srdd) BodS. FPES0S
Todariidon wodoiTrdomr JrdnBoddo

8mo (R): FEo o8 drroddo Bodd wofodorddw EE £Ho Hood
é?\}gmﬁjg"m@& P alovhheTa b

Which of the following is true?
& 1808 TIS' I DSgH0?
Options:
Both (S) and (R) are true and (R) is the correct explanation of (S)
. (S) Sodokn (R)Bodr Hegh0 Ho8asw (S) 8 (R) 285808 D58
1.
Both (S) and (R) are true, but (R) 1s not the correct explanation of (S)
(S) S0800 (R)Bodr d€gim0, 5°0 (5)8 (R) 208308 Hd8 500

(S) 1s true, but (R) is false

(8) d8gdw, 52 (R) eddgin
3 v

(S) 1s false. but (R) is true
(S) ed8gsm, 50 (R) Hgsm
4 ®

Question Number : 47 Question |d : 4928631487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following characters is not correct with respect to Ratitae

& 1808 o) oFpdn 0r88 HBod Ho20H0RIE 5%

Options:



Flightless birds
KBS Hoeo
1 %
Sternum without keel
58 |8 wod

Syrinx, clavicles are present

FOQ Hobodn w@wuodrown

3¢ 7
males have penis

Hoff Sos® drdo ol

Question Number : 48 Question Id : 4928631488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Match the following

List-1 List-1I
(a) Harderan gland (1) Skn
(b) Sudoriferous gland (11) at the base of the tail
(c) Preengland (111) Ear
(d) Ceruminous gland (iv) Eye
(v) Brain

8od TBY wEHES0s

erfee -1 oo -11
(@) HYOORS Hod (1) W0
(b) &ETDER Hed (1) &% egderidn
(©) B Bobd (1) I
(d) ErWID |Hod (iv) £59)
(V) Sodd

The correct answer is
B0 eond 2o

Options:

@ @® (© @
L™ @®  G) (i)

@ ® (o (@
ok @) (i) @ @)

@ o (@© @
v @ (@@ Qv

o R

@ ® © @
L i) @ @ @)



Question Number : 49 Question Id : 4928631489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following bear a flagellum without lateral appendages and the terminal part of
the axonema 1is naked without the outer sheath at its tip
a) Peranema
b) Monas
c) Polytoma
d) Chlamydomonas

808 3¢5 BR B8 FENATTETren o), @805 S0 290 8geTm1000 WNEEITEI0
SR &

%
o
(613
iy
C
&
A
=
s
-
&
e
£
c
&

a) THoRSr
b} DT TR
C) ;OO

) s drSTe
Options:

1 %
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Statement (S) : Transverse binary fission seen in paramecium is also considered as
homothetogenic fission

Reason (R) : The plane of fision is at obtuse angle to the longitudinal axis of the body

Fgpg (S): P00 @iy BT NG FTIFHEEIE N8 o BrF wolrd
8o (R): & NG dodn BrY schd o5rds K0’ Gotnod

Which of the following is true?
& 808 TS 2B DgH0?
Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) So8osw (R) 3o g0 00050 (S)& (R) 038 JNded
1. %
Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
(S) S00cin (R)Bodr 850, 570 (8) 8 (R) 585308 e 50k

(S) 1s true, but (R) 1s false

(8) Sdgdw, 570 (R) ed8gdw
3

(S) 1s false, but (R) is true

(S) ed8gdm, 50 (R) d&gdw

4 W
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Match the following

List-1 List-1I
(a) Morphine (1) depressant
(b) Heroin (i1) stimulates of central nervous system
(¢) Cannabmoids (111) sedative and pain killer
(d) Cocaine (1v) effect on the cardio vascular system

ol T 2EB8God

erfer - 1 arde - 11
(a) S0y (1) &S (Sr308 Boibio)
(b) roons (i) Zogad Sgsgdo [Wdhowo
(c) EdTon) (1i1) Soedydoodd, TRy ok wHIHD0
(d) &35 (1v) Salales VRN eTSTe 5’155’35\’{3_}':_3 (a0

The correct answer 1s

58 o8 2arew

Options:
@ ® (©© (@
L x @O () (i) @Gv)

@ ®m (© @
W) ) G @)

@ ©® © @
CH IO COR ()

@ ® () @
L @ Gv) o (i)

4.
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Statement (S) : The eggs of Ascaris are described as ‘mammillated eggs’

Reason (R) : These eggs are passed out with faecal matter and infect man via
contaminated food and water

Fgmg (S): 6,08 MdH “SrBBE" Hdr Lo otrdd
580 (R): & oo ArIPI Do TO° WL JBES Soudd eFFisw
$00I0 A8 TN JoEbTown

Which of the following 1s true?
& 808 FIS® B DBgH0?
Options:
(S) 1s true, but (R) 1s false
(S) H&gsw, 572 (R) wddgin
1. %
Both (S) and (R) are true, but (R) 1s not the correct explanation of (S)
(S) 080k (R)Bodr 8550, 570 (S)§ (R) 90008 S8 s0eh
o
(S) 1s false. but (R) 1s true
(8) eddgdn, 50 (R) S8zl
3 ®
Both (S) and (R) are true and (R) is the correct explanation of (S)
. (S) 500050 (R)Bodr &g Sodadn (S) 8 (R) 908308 Dden

4.

Question Number : 53 Question Id : 4928631493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The only drug effective in the treatment of filariasis. hetrazon was discovered by

28005r0S DBHS' T8 JBE HHEH0STS ootk IWWESH EHFE) TIBE IS

Options:



Alfred Sherwood Romer
@;ELE:J:S 20H& Sé

Yellapragada Subba Rao

e @iid Doemora
2 =
M.S. Swaminathan
M.S. (TGS

William Kirby

DOB0 &
=%

Question Number : 54 Question Id : 4928631494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which of the following enzyme converts starch into disaccharides

Options:
Invertase

23BE
1. %
Amylase
DO E
2. =
Cellulase
?\:mgﬁ &

o R



Protease
. ISP D[oE

Question Number : 55 Question Id : 4928631495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Cockroach is a cursorial insect and runs on the smooth surfaces using ‘A’ and runs on the
rough surfaces using ‘B’ parts of the body. What are ‘A’ and ‘B"?

&

Qo8 WodoBormr SWnRdy S8, 78 Y ol FOoHLB A'd Sobakn KKEs
w0 D FOohbE ‘B’ & dddriodhd. ‘A’ Hddw ‘B’ ods hgohdon

£

Options:
A - Claws and arolium : B - plantulae

A -Sgren H8cin «e8dco B - FOotNgeT" e

A - Plantulae : B - Claws and arolinm

, A -Jrotogoren | B - Spreo S0ddin @ddokho

2. b
A - Pivot ; B - Cibarium

A-9%H% ; B- 2@8ako

A and B - claws only
A 508050 ; B -dgren Srgdo
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Match the following

List -1 List-1I
(a) Phallomeres (1) Nitrogenous waste disposal
(b) Taenidia (11) Copulation
(¢) Cuticle (111) Prevents trachea from collapsing
(d) Osta (1v) Blood passage

& Sod T8 28S55P0d

e - | arde - 11
(@) DS s (1) &g SggvmTe Sohod
(b) &JA&as>r (11) Do) Hw
(€) ©ld (111) Trodnareren Sws@od) Fdom stardods
@ oo (V) S§ BTER8

The correct answer 1s
50 oS aren

Options:

@ @® (© (@

(i) () @@ Qv
| ¥

(a M () (d)
o ® (ii) (1) (iii) (iV}

@ @ (© @
- (i) (@) ) (1)
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Question Number : 57 Question Id : 4928631497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Statement (S) : The animals which live in colder regions have larger body size with greater
body mass
Reason (R) : The small surface area does not help to conserve heat

Tgmg (S): 30 (Toered”® JISV0T oo IKYS (G50’ g F6o) £Oh
o iIm000

8o (R): 85 &I ITogdn G HEITHLE GHRBrRHE D

Which of the following is true?
& 1808 TIS® 2B D507
Options:
Both (S) and (R) are true and (R) is the correct explanation of (S)
. (S) S08cio (R)Bodr ddgdn S080w (S) 8 (R) 305308 D80
Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)

(S) Jo8ao (R)Bodkr ﬁégm* 52 (S)§ (R) éﬁ@:eﬁ Dbt B
2 #®

(S) 1s true, but (R) is false

(S) éégﬁw* 570 (R) @éégzﬁm
3. v

(S) 1s false, but (R) is true

(8) od38gsm, 50 (R) d&gd0
4 ®

Question Number : 58 Question Id : 4928631498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

During summer the density of the surface of the water decreases due to increase in ifs
temperature. The upper most warm layer of a lake is called

DEJYoS’ fiarFeod® e DhhL Jod G0 I8 Fodd SHd. G
oMb Hold ) GHldwod” Iy Déﬁj@aé B DB DB0ErSd

Options:



Thermochne
RS

1 % =
Metalimnion
S0er DNOSrS

2 ®
Hypolimnion
T OIS
3% = :
Epilimnion

Qﬁ:@mjoﬁrﬁ
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Question Number : 59 Question Id : 4928631499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Statement (S) : Diapause is the phenomenon in which certain organisms spend some time
in a state of inactiveness

Reason (R) : Itisamechanism of survial under extreme temperature and drought

gy (S): FQ) zodhew Hésro FEddm é&%é&m@‘ Fod odn oB&dom
GOLTToN. A $SrIrR Wotrdd

s¥mo (R): & ofogrofic (0" £ LB GBS 00 TR dod &8
SN ES rEE 0

Which of the following 1s true?
& 1B TIS® B DBgB0?
Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)

(S) S080%0 (R) 3o ﬁégsﬁm S08050 (S) & (R) 589_3056 DG
1. ¢



Both (S) and (R) are true, but (R) 1s not the correct explanation of (S)
(8) 008050 (R)Bodr 855500, 570 (S)8 (R) 283308 e 520

o %
(S) 1s true. but (R) 1s false

(S) &g, 5 (R) eddgin

= W

(S) 1s false, but (R) 1s true

(S) &d&8gsn, 50 (R) &gl
4 ®

Question Number : 60 Question Id : 4928631500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following gastric glands produce gastrin hormone

& (808 O wdd Fodows RS &
Options:

Cardiac gland

TF08 (lodowo

Pyloric gland
2e5°8E ¢

i ogoen
Oxyntic gland
@goiﬁg iodoew

Fundic glands
D05 Hotben

Question Number : 61 Question Id : 4928631501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The pH of blood 1s about 7.4 and is maintained by

883 PH 74 Gohdods &6yl

Options:

Monocytes

SUISHETN

Platelets
58 DOBe

Leucocytes

Red Blood Cells

HIE B8 Segrew
4. v

Question Number : 62 Question Id : 4928631502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The following characteristic features of circulatory system and heart types were found
different animals, A and B

A)
B)

1)

ii)
iii)
v)

deoxygenated and oxygenated bloods are received by the heart separately but mixed
blood will be pumped out from the heart

the oxygenated and deoxygenated bloods are received by the heart and the unmixed
blood is pumped out separately

double circulation and 3-chambered heart
incomplete double circulation and 4-chambered heart
double circulation and 4-chambered heart
icomplete double circulation and 3-chambered heart

G800 HgHg B0l HoBdsoss QoooN & Sob A 8o B wfren JIE
BPoodody MoBothdn

A)

B)

1)
i)
iii)

V)

02T S G850 B0 whad rd G850 VM HoBH VO JEFh o
oY) Waobadk
95502 05rd GEHn Bodon ediad Jurd 850 MoBs WO O FHom® LB
DoY) Wodbtd

£n

Geotidy Rddn Hbain 34ithenod

G

Soyg BroB8E (VG030 Hdddw 4K erod
Geod) SERRdeadw Hioin 4+the Kod
©J0Yg Brod SEDDEPIN Hdddw 3K orod

Which of the following condition 1s correct?

& 808 TAS® I JHOFEH?

Options:

o

A B
i 1i
A B
111 v
A B

111
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Question Number : 63 Question Id : 4928631503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the three following hormones is crucial for regulating the salt and water balance
in the body?

Fa

8ol TES° 2 FEYH BFros® B -wden Hogdi Ed Hwed?

Options:
vasopressin, angiotensin-IT and aldosterone
TR, Brozddrdw-ll odddn s8I /T
1. ¢ -
cortisol. aldosterone and renin

505, wg oW 8ok T

anti-diurretic hormone. prolactin and aldosterone
BSroBBSrOBE $96°S, |PersS 0050 BTHTS

angiotensin-II, thyroxin and aldosterone

BroBr8Ye-Il, For§e odcdw wS Qo e
4 ®

Question Number : 64 Question |d : 4928631504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An autoimmune disorder affecting the neuromuscular junctions leading to fatigue.

TE-BodE B0 Derddo B2 oders 57800 “jﬁoﬁiﬁéﬁﬁﬁcﬁé Ciof‘ié;é 28

Options:



Muscular dystrophy
$0dS QR

1% -
Myasthenia gravis

RO WAAT (TI®
o o "‘*

Tetany
GdoTedo
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Question Number : 65 Question Id : 4928631505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which of the following is called gyroscope of the body?

B AORY,ST Doodwds A6?

Options:
Cerebellam

4

1. ¢

Medulla oblongata
29 T SN AW
Ponsvarolii

>5)56°0

Mesencephalon

Sogsg Hgsm



Question Number : 66 Question Id : 4928631506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following
List-1
(a) Peptide hormone
(b) Amine hormone
(¢) Steroid hormone
(d) Protein hormone

Bod T8I add8bed
e -1
(a) HR&E HYS
=
(h) @;‘_9(5 ”’uﬁﬁlﬁ

() [Tond TS
(d) @88 s8¢ ©

The correct answer 1s

N8 woN 2t

Options:
(@ @® (o)
L (v) (1) (1)
@ @® ()
- (1) () (1)
@ @® (o
- () (1) (v)
@ @® ()
. % (m) @) (1)

(d)
@)

(d)
(1)

(d)
(1)

(d)
(11)

(1)

(i1)
(iii)
(iv)

(1)

(11)
(iii)
(tv)

List-1I
Parathyroid
Estrogen
Oxytocin
Thyroxine

e - 11
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AT B
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Question Number : 67 Question Id : 4928631507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Statement (S) : AIDS virus has single strand DNA as a genetic material
Reason(R) : Reverse transcriptase enzyme makes AIDS viral DNA in the host cell

g (S): AIDS 388¢° €S DNA ﬁ?ﬁngéﬁ“goﬁ €5 08080
s*8mo (R): 0358) R ERE 2o 08 Sndnd® AIDS 366 DNAm S8

Which of the following is true?
& 808 TAS® B HSgH0?
Options:
Both (S) and (R) are true and (R) is the correct explanation of (S)
(S) $28c50 (R)Bodr &g D08asn (S)g (R) ﬁﬁ@oeﬁ ]sTet=5)
1 &
Both (S) and (R) are true. but (R) is not the correct explanation of (S)
(S) So8ci0 (R)Bodr 385550, 570 (8) 8 (R) 285308 D8 5
o ®
(S) 1s true. but (R) 1s false
(8) 85w, 5 (R) eddgiw
3 %
(S) 1s false. but (R) is true
(S) vdéghn, 50 (R) d&gs50
4

Question Number : 68 Question Id : 4928631508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Sperm is produced in the testes and 1s being transported through the following organs :
a) Urethra

b) Epididymus

¢) Vasdeferens

d)  Vagina of the female

e) Ejacuatory duct

f)  Semuniferons tubules

g) Rete restis

Do 0S” G wod DEST & Fod S0V vIdhITo THT Prdothd
a) |(HwEdw

b) IBEBHS

c) HEToE
d) @ﬁszﬁya

-

e) JpodT;Fdw
f) DHiFfeEE T8

g 6& Bl B

The correct passage of sperm
HEgeTo S 5D ESoBw

Options:

fob—sg—oc—ose—a—d
1 %

bsfog—c—oe—a—d
z ®

. gofoc—obose—sa—d
3

fog—-b—oc—oe—a—d
4 o



Question Number : 69 Question Id : 4928631509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Cervical cancer is caused by

ﬁﬁfoﬁ: Supaed 57596 A oo Senibods
Options:
Herpes Simplex Virus
- O A, W EL
% TTOYw wowE) S0

Human Papilloma Virus

=,

Jrgoe Fag e 360
2 -
Trichomonas Vaginalis

) @ Farare 200
3

Treponema Pallidum
ST FOES
4 ®

Question Number : 70 Question Id : 4928631510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following is not caused by pleiotropic alleles?

& 808 2 T Ejo_:‘m@”L S3ooffy VEOYFO SOl Dtﬁﬂéﬂﬁj?

Options:
Phenyl ketonuria

226 8&5°8rg0asr

Sickle cell Anaemia
8850 €00 Laosr



Muscular dystrophy
2 Sodg god &@‘ﬂ&
Cystic Fibrosis
DRE DSDD
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Question Number : 71 Question Id : 4928631511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1 List-1I
(a) RI Factor (1) Incompatibility between Rb negative mother and
growing positive foetus
(b) CDE Nomenclature (11) D Antigen
(¢c) Weiner Hypothesis (111) Fisher and Race System

(d) Erythroblastosis foetalis (iv) Existence of 8 Alleles

8o TE 2858508

e -1 de -11
(a) RR=sssn (i) RP3IASS 80K 0s° 268 R 2285 309" §0A
WIS
&
() CDE 5°5:880 (i) D S8esEsn
(€) &6 HoseNs (1i1) DBE Sodaiw TS HBENS
(d) ABEerTRS DETOD (iv) 8 ddordseoysravodots

The correct answer 1s
90 WO 2BIT20

Options:
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Question Number : 72 Question Id : 4928631512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1

(a) XX-XOType

(b) XX-XYType

(¢) ZO-ZZType

(d) ZW-ZZType

& 08 AV 2SI
erde -1

(a) XX -X0Osgs50

(b) XX-XY 8850

(c) ZO-ZZ 5550

(d) ZW-ZZ5850

The correct answer 1s

D8 Lo a2aew

Options:
@ @O (© (@
L) @) G @

1.

(1)

(1)
(iii)
(iv)

(1)
(i1)
(iii)

(1v)

List-1I
Drosophila
Grasshopper
Birds

Fumea
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Question Number : 73 Question Id : 4928631513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many Barr bodies are present in the cells of Klinfelter Male (KM). Normal Male (M)
and Normal Female (F) in humans

35 290 2oF@S YHRIST (KM) 5 HEpds” (M) ook Fadn @ & (F)
IQ) 2§ Birenodron
Options:
2(KM), 1(M). 2(F)
1. %

. LEM), 0(M). 1(F)

O(KM), 0(M). 1(F)

3 ®

3(KM). 1(M), 2(F)

4 ®

Question Number : 74 Question Id : 4928631514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



“Development of normal eyes and skin colour in the Proteus anguinus. a cave dwelling
salamander. upon exposure to daylight and its subsequent passage to the next generation”
supports which of the following evolutary theory

R0’ AI00T Fododl wond (FLabS @olpdod Srdisross” Fodsteodn
GOoNVIDYD Ferdm JEren DAV, BEHFHD KoQoBnbIE. & vired SHI S
$0°08 ©H0IE THT LodBAHRESS. 28 ) DO DT oTR) woHlithie
Options:

Darwinism

FOr230
1 % >
Neo-Laemarckism
i eny @é&‘&&aﬁu
>
Mutation theory
= S0IES T osSn
3 ® -
Industrial melanism

FO T8 TS

Question Number : 75 Question Id : 4928631515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Biochemical recapitulations. is best exemplified by embryonic development of birds. Identify
the correct statement

LICFARIE YIoHYE dFoddn Psddn £& (bird) SomdHRs dowohodd & Bod
TAS H8Gd Trgpgdo Moowodn

Options:



1. ¢
excretion of ammonia for first four days of development as in fishes. urea for next
nine days like amphibians and finally uric acid as in reptiles

3088 Frenih Swen BHT T ¥37ARTR, Shad FAd Swed GFDIT 0SS

JSrBaird DH0ST BT ONB rdEErd) AHPRes

o W

excretion of ammonia for first three days as in fishes. urea for seven days as in
amphibians and uric acid as i reptiles

BoBE Dordy Saren THIB @ayémmm, SETE D0 Seren GHHSTOSS
SBarBISFEy BBy HESYFHIB cHrEEHrd) IHYoEd

z ®

excretion of ammonia for nine days as in fishes, urea for nine days as in amphibians
and uric acid as in reptiles

S0 & ys Sleren WHLIB e Acird, §6hard FId Seren GEoHEorvsd
G5By ehdnty $80)TendS crOFErd) JSQIoW
4 %

excretion of ammonia for two days as in fishes. urea for ten days as in amphibians and
finally uric acid as in reptiles
F0EE Body Saren BHOIT BFrRINrD, SHTE Kb Fwren GIohITosd

SBordaird sudnt S8)TFesB HrisErd) S 00

Question Number : 76 Question Id : 4928631516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following schematic diagram best explains showing phenotypic distribution
explains the “directional selection™ due to natural selection :

& §0b T8S* ) Dhdw PEBSC G0 BFaing S S)igdrd d¥Ed Srdothhd

Options:
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Question Number : 77 Question Id : 4928631517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Philadelphia chromosome is associated with following disease
E}@E@Qo‘bﬂ §'3rSth0 @ A L]Ci:]ié.:é:é:- 5750 DM

Options:

|« ADS



Cancer

v 57396
Immune hypersensitivity

-~ [Ty w8 AESco

Tuberculosis

€028, §S PR

4 ®

Question Number : 78 Question Id : 4928631518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first gene therapy was given to

anégzﬁwdﬁéﬁﬁﬁﬁﬁ“ ﬁc‘ﬁjg D& 38 aéﬁgeﬁso&

Options:
Human mmmuno deficiency

aﬁ:ﬂga’mﬁ ?-_qé’nagﬁi B 0050

Emphysema

o

DO DT
Adenosine deaminase deficiency
&S BonI& %o

. v
Phenyl Ketonurea
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Question Number : 79 Question Id : 4928631519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The following fish 1s a good source for omega 3 fatty acids

& 808 2 [ oo 3 Y[ widrer 0IT wPoHI
Options:
Shrimp
1. % G
Sardine and Salmon
TP HoBABN FoyR
4 =
Cat fish
29 85

Silver carp

L ARl gy
:x)'t“.?aho E"‘Qﬁj
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Question Number : 80 Question Id : 4928631520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Statement (S) : Queen bee performs “Waggle dance’ in a bee hive.
Reason (R) : “Waggle dance’ informs other bees about source of nector.

Tgwg (S): T S BIDERSodh RS SyEgd) 6B 0w

8o (R): TS G)Bgn 56 &IEV BYTIE 1Sy B3R5 dSrTdnodothd

Which of the following is true?
& 808 TIS® AB D&gHn?
Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)

_, (8) %0000 (R) Dot Hg5w 500w (3)8 R) 5008 256w
1.
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Both (S) and (R) are true. but (R) is not the correct explanation of (S)
(S) S00cio (R)Bodr ddg0, 570 (S)§ (R) 900808 Dhdee s0eho

(S) 1s true. but (R) 1s false

(S) 8550, 53 (R) edBgsw0

(S) 1s false. but (R) is true

. (S) ©d38gs0, 520 (R) ddgdw
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 4928631521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Left alone. the half-life of Protons and Neutrons are almost

A& Q&M SHOITYW, |PFErow J0doin drgry of 28 ol TETYT
Options:
Infinite and finite respectively

P 2B0M BRodH0 00 H0END
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Both infinite

. % Dodr wdoddn

Both finite
Sodr DO SSN
z ®
Finite and infinite respectively

L% SR, D0DERD HBC0 wRodo

Question Number : 82 Question Id : 4928631522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Measured resistances of 5€2 and 10€2, both having same absolute error, are connected in
parallel. If the relative error of the equivalent resistance is not to exceed 0.05. the absolute
error in the measurement of each of the resistance in Q is

2,8 D85 &ho HOAS Tod A8Gsred 5Q 50w 10Q m FO0, o8 dSroddom
50>, DB Sog ITSH0 B8, FHE GHsw 0.05 508 VEKERE EHED), Do
A GsTe Bode™y HES 8850, Q est

Options:

Question Number : 83 Question Id : 4928631523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Two stones are thrown vertically up simultaneously from the ground. As they travel upwards,
their mutual separation AS. as a function of time ¢’ can be graphically shown to be

Dotk Thi%o VYT T K08 8 230 VB, © P8 BASTBRYD
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Question Number : 84 Question Id : 4928631524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

Aboat sails on a river against the current from point A to point B and back to point A again.
The boat maintains same velocity in relation to water in both cases. The velocity of water
current 1s 3 kimv/h. If the ratio of the time the boat takes to sail from point A to point B to
point A and the time it would take to cover the same distance on a still lake 1s 1.5. the
velocity of the boat is

w8 DED SOS°, PTFIE SgET8om, A Do) Sood B Dot S8 Sobodo IS8,
A Do) D80 PHosrdod. € Bodd ﬁoiﬁﬂ";ﬂﬁﬁ SES S Byipg o8 Q) $OA 0.
Q8 Darde 3K 3 km/h, 385 Dodoh Adood DokodH) BE 88A DotvY A8 HoSrBod
500 D00 HES @08 Grord) JuEE NS S6S° Bairdod swo NG 1.5 wons
DeH Jrfo

Options:

-4\/5 km/h
®

1.

.6«/5 km/h

.5'\/5 km/h

.3\5 km/h
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Question Number : 85 Question Id : 4928631525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

A projectile positioned at a point A4 is fired from ground at an angle “6 ° with respect to
ground and after 1 minute it touches the point B on the ground located at a distance 6 km
from the point 4. The initial velocity of the projectile 1s

08 [WEN¥5D Prdy oK) A8 Do) 4 50l Frderds ‘07 Feos’ LT K. b
1 QBo0ddw S0, Do) 4&od 6 km drdos® grdonios) S8 Dok B a8od.
©ED850 BwE), & IKbwn

Options:



33 m/s

100 mv's

105 m/s

316 mv/s
4 &

Question Number : 86 Question Id : 4928631526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A ball 1s thrown with an initial velocity of 100 m/s, at an angle of 30° above the horizontal.
The distance from the throwing point to the point where the ball attains 1ts original level is
approximately

8§82 HSrods Tpd 30°F w0 3&’)3 2.8 208 O 100 m/s 3508 DVOIDTE. DVBD
Do) 0od 208 SBA &35 I ST 08T Do 3 DoY) J8B Ko dordo dodsdm

Options:

860 m
1. ¢

510 m

o R

1720 m

3 ®

30m
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Two boys. both swim at 2.5 kin/h across a river with the water velocity of 2 kav/h. First boy
starting from point A on one side of the river crosses the river along a straight line path
reaching point B on the other side of the river. AB being perpendicular to the stream. The
other boy starts from the same point A and swims right angles to the stream and reaches
point C on the other side of the river and walks back to the point B with a velocity u. If both
boys reach point B at the same time. the value of u 1s

2.5 km/h 3608 agd erend, A8 Jdn 2kmhr do S8 Sord. J00d8 et S68
w8 Yo DoddPy Adod Indeow, H8F S Srdorr S68 To&IDdd) B Dokodhse
Wordy. ABOp (Dartl8 vomom ¢od. Bodd wrendd 98 Do) Adod HaFts
OO Hthodr 68 Todd JPHos) C Dot B0 ©8) &0 B Dokodds udkos
5OSEE T BHHT)E. RPHPD 28 Freod’ Dok B I BOILowS, u Jend

Options:

2 km/h
1 km/h

4 kmvh

T W

3 km/h
4
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A marble of mass m, slides down an arc of circular track from rest as shown in the figure.
Assume the track is frictionless. If the block having the track has a mass m, and can also
slide frictionlessly on the table. the velocity of the particle when it exits the track at B 1s

My (GRgoImie otro 9ETSE HE Srdoihor RS ol HLod” Brud Jgorr
2008, $rgo DB B8 0d0. Srdsnd) By (BS50°8 m,) 8re 0B 5708
0o doow G008, m, (B550°7 o TFoTon Do B 58 aordgsn 3088, &
Dot 5§ T S0

P

Options:

JoF

1. %
gR| 1+ L
1y
2 ®
JZgR(ml + mz]
3. %
2gRm,
(my +m,)
4 v
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A truck of mass 2000 kg 1s moving down the hill inclined at an angle 30° relative to the
horizontal. At some point when the truck speed is 72 kmph the driver applies the brakes.
The constant force (parallel to the road) that must act if the truck has to stop after travelling
100 m 1s

(Assume g = 10 m/s?)

2000 kg (g5gor3rio frdy) 5SS, 88208 30° 8% 008" o Fod DH00d Bods HEdJ)B.
T30 IS 72 kmph &Sy w8 DodP I Ty S&wad (driver) @@§)
>, @56 ok 100 m HoSrHod TrSo SAFITIF) TFI0R IIVDRIOVS
w0 (Eddt ddroddornr) Jwad

(g=10 m/s?)

Options:

30000 N

1 %

- 14000 N

25000 N

o R

50000 N
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A small object of mass m, moving with a velocity v, is incident upon the block having a
frictionless curved surface of radius R. The block 1s initially at rest. The object and block
move together on the frictionless horizontal surface while the object rolls up to maximum
height of /1 on the curved surface of the block of mass mi;. The value of /1 1s

555078 m, fo 28 D) SN V, 308 D88 SESrdo (SEe FgrZao R) 80h

Mp $H50°8 Ko B0y EHB. 60y Inde Jo¥Em w8, S0P IESrdop KR I
h BHS5EE 5839 So00%» BIpen O Hodedl §82dldwoy Edhendoamon.

e h dend
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Options:
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A 3 kg steel ball hits a concrete wall with a speed of 10 m/s at an angle of 60° with the
surface and bounces off with the same speed and angle. The average force exerted by the
ball on the wall, if the ball is in contact with the wall for 0.2 s, 1s

3kg 855078 Ho w8, w08 $oEd A 10m/s 3508 S8 60° Fos® G50 wod
08 LHb8csy 2od Food® IH808A0H. woé FES® 0.2 sseo ﬁgéf;e.‘i‘ Goh 208 e
500 JTH0 oo Qosd

Options:

2.6 x 102N
1. ¢

52N
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The times taken by a solid sphere. a solid cylinder. a thin-walled hollow sphere and a
thin-walled hollow cylinder. all having the same mass. to roll down an inclined plane when
released at the top are denoted as 7 . 7. t, and ¢, _respectively. The following is true with
regard to the roll down times

8 (G508 o Dol Fhw, od drHbn, Heodd Fd fo e o Sodokon Heodd i
Ho o drddner Tewdoo 2 Do Hod Eod I8k FEFIS Stusrorods S8
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Options:
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A camera clicks 100 photographs with a shutter speed of 5 sec of an oscillating pendulum

of period 1 sec at random intervals of time. Which of the following statements about these
photographs is most likely true?

1 seC FoTrdgs srodn 80AS B0dd S'o5m) G dHhdirodrod” s I& % sec

EOAS o8 Boor 100 Qerod 8508, & Yoo Jouodod §od J 3w Jzo
5IF08 whE ©I5Esnod?

Options:
1. %

More images will show the bob vertically below the point of suspension than at the
ends
QD VEros” FFSw Eoddo DIGw ol Iedhoin Hoy) 1Bodm JeoHm

More 1mages will show the bob at the end positions
Q8D Q@ FoR Boddo NI DodYo IF i)ty Srysrow
2 v

T W

There will be roughly equal number of images of the bob positioned vertically below
the point of suspension as those depicting the bob at the ends

Ao e dfodn Do) Bodm QeI &) Dgren Ho80x Boddo NN Dob o

38 BHtn Sro YEe TEY) Jdrdo
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No images will likely have the bob vertically below

Fgo Beordbasn Doy ol JeoHm dra J@reo Godkd)

4 %
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The amount of work that has to be done to place a 1000 kg satellite into a circular orbit
of radius 290 km above the earth’s surface is

(use M, =6 » 10**kg. R, = 6380km. G = 6.67 » 107! Nm?*/kg?)

Frd GS0gwo Hod 290 km drdos® &) SEmsd §8g° 1000 kg &5 155
GodTAE Tahdohd I
(Mg =6 x 10**kg. R, = 6380km. G =6.67 < 107! Nm?/kg?)

Options:

% 927 %1017

3.27 x 1019 ]
2

6.27 % 10'9]

3x 10 ]

E
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The Young’s modulus of copper wire of 2 m length and 5 mm diameter measured by applying
a weight of 100 N is 5 Nm. If the applied weight is increased to 200 N, then the Young’s
modulus of copper wire 1s

100 N &80 e005805280, 2 m P& Sodcin 5 mm argddn Ho oo 81 SBws). ool
Hegsn SNM?m £OadH. od) 200 N o8 o8 ovd 8 BwE), ool Kreasswn
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10 N2

1.

S Nm>2
o W

1 Nm—=2
z

0.5 Nm™
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A wide vessel with a small hole at the bottom 1s filled with water and kerosene. Neglecting
the viscosity. the velocity of water flow. if the thickness of water layer is 30 cm and the
thickness of kerosene layer is 20 cm. is

@By o’ AF) Jo|gdnd) w.E ITVoT GJ) FBH L HBosn 8RS B
QOoTSH. BTre o IO, I8 IS Sodsn 30 cm S08cs» §FRI FY SrodSw
20 cm ey Sogorhom airdgsdlg 08 Ik

Options:

3m/'s
1. ¢

9 m/s
1.73 m/s

1.50 m/s
4 #®
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A vessel of volume 40 / contains ideal gas at the temperature 0 °C. After a portion of the
gas has been let out. the pressure in the vessel decreased by Ap = 0.78 atm. while the
temperature remaining constant. Assuming the density of the gas under normal conditions as
p=1.3 g/l. the mass of the released gas is

40 [0 $05redn o @ 0 °C $& ©8d) Tciod) 508 G5B, SAHSDH Pbom dohér
TAENYE Tod ) wo0BE HoDIH FMES'D kY SEsin e Ap=0.78 atm.
FEde K0P eHDyde Tako Fod p=13 gl wond, 2rEERE Fosn BS50°d
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L 306¢g
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Atwhat temperature will a Fahrenheit thermometer record twice as much temperature as a
Centigrade thermometer?

2 GAES 3G FOSTE SRPIrHESD TFD GLES, VoBHE GPSrdEo WD SIS
08 BoloseiHd
Options:

320°C

1%

- 160°C

80°C

o R



—40°C
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A gas system is taken through the thermodynamic cycle (abeda) as shown in the figure.
The amount of heat change experienced by the gas during the process 1s

2§ Tok0 Sg5Hs GRHBE SES (abeda), HE0S® SFDS o S BabhadSE. &
DBOS® TosnYgo BN GRo Sy

o)
P (kPa)
d ;
sl [ ¢ e
150 f[--- > b
a I
I I
| |
I I _
1 1 > V (em?)
200 400

Options:

40 J of heat 1s rejected

& 980 40 ]

1.4 F =
40 J of heat 1s absorbed

ﬁ.‘rg oo 407

100 J of heat 1s rejected
& Q0850 1007



100 J of heat 1s absorbed
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If the temperature of 50 m/ of gas at 27 °C is raised to 57 °C at constant pressure, the final
volume of the gas 1s

27 °C $8508) 50 ml s0do0 &apiisso 57 °C 8 o8, T7odn $0b H0SH0Sre0

Options:

23.7 ml
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Consider a point object moving in the X7¥ plane according to x =a sin @t and y =D cos o,
where a. b and w are positive constants. The trajectory equation of the point object is

Do HoSreadn Ko ISP XY Swoss®, x = a sin @f 50800 ¥ = b Cos Ot HoEST
gdoroeaor Ecowndrod. 2 & a, b 5o8d5n Wwd §S RorosTeL. & Do S8Y BED ¢
Hao ¥ s
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An air gap in the form of a prism as shown in the figure is present inside a glass slab of
refractive index 1.8. A ray enters from left side of the slab through face A. Then

1.8 5858 oea¥o BOAS a8 mer HS0e® HQEo evdod’ IS Qobd ¥ HEFSw
D&0es” Brnd JGom bﬁgdfa’a&%&. QB D), Dok 28 Bwo M &) Svo Afow

333008, Land

A

457

Options:
The ray passes through the slab undeviated

. Qdoddordom Ed0 e HDY) Mod HIrBRy0d
1
The ray exits from the slab bending upwards

v 8§80, B3 od D8 ok TIPSR Y 0b
2 "



The ray exits from the slab bending downwards

8§80 Q30 o0& Bodse Jof wTrESEDYB0H

The ray exits from the slab after total internal reflection

§8ea0 Jord HT YN0 Foh &y Dol s HSod
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Match the following diagrams with the correct statement

Bob Jirod T8 0 Jdbpod” wdiduod
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erdar -1

@
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The correct answer 1s
58 Lo 2ar0

Options:
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(c)
(iii)

(d)
(1v)

(1)

(i1)

(iii)

(iv)

List-1I

e - I1

Positive magnification, image on the
opposite side of the object

599%0 608 B, ¢ IJE HBDoH0

Positive magnification m > 1

8509 @ﬁgém& m> 1

Real image

Je [R8DoHW

No image
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A laser beam 1s used to illuminate a double slit. The distance between the slits 1s
0.93 mm A viewing screen is kept at a distance of 1.2 m from the double slit. If the

second order bright fringe (m = 2) is 5.1 cm from the center line, the distance between
adjacent bright fringes is

DO8e Hgy dedo 0.93 mm. DO Sood 1.2 M drdod®, ReHoer) IrdaE s 8
Gowdd. Hogg Spd 5.1 cm SrdoS® Todd B A% 5708 HGE (m = 2) ¢oB, &d8)
ﬁ&:ﬁ; 5708 Q8w Gy Grdo Jod?

=
[=5]

Bub 5708 Pozdndo, Do VOBeS) HgHR PO BobodTIE SIBrhoT .

Options:

. » 1.5cm
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3.2 ¢l
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Consider a long solid non-metallic cylinder of radius R carrying volume charge density
p = k? (r < R). where r is the radial distance from the axis and k is a positive constant of
appropriate dimension. Then the electric field at a distance » < R from the axis of the
cylinder 1s

Rargargioode e o&'S Ho8 drdo, ol udd Fogd p=kr (r <R)$0A ¢ Edomo.
2,6 7 0F50 $00d TEHE Srddn B k HOFE oo FOAS &5 [T o)
Qrdon. Jrd wfo Hod r<REFS0S” Ho o Dodd I8 kg g8 dend

Options:
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5

The potential of an electrostatic field E = 2ax) T+ a(xz — .1-'2] J 15

E:2nxj'f+n[x2—j*3)j o3 S A8gS FEo Toog, FBITNS Jend
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The ratio of the length of a stretched circular rod to its original length is x. If u is the
Poisson’s ratio. the ratio of the electrical resistance of the stretched bar to that of the

unstretched bar 1s

RO [Te s HdgRcore §§ FEH Hdckn T Swre (original) FdHo NS
Fonard ARG U oond, FREDS §§ D) IS IFEIN 5805w FHEHE ¥

N8 |
AEogd AT HIne WG

Option;:
1-2u(x-1)
1 ® X
1—x(1-2u)
2 % x
X
1—2p(x—1)
3
X

X.
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In the circuit shown. if the potentials at points 1, 2 and 3 are 10 V. 6 Vand 5 V respectively
and the resistances are R, =10 Q. R, =20 Q and R, = 30 Q. The cwrrent flowing through
the resistance R is

SrDS S0cHos™ 1,2 50005 3 o 3§ FBIHS deoder S&vm 10V, 6V
30805 5V Sobasn 98Fes R, =10 Q. R, =20 Q%6050 R, =30 Q. 36%$30 R, oz

]

DD00w Ddogd DarTrdw Jend

Options:

0.1A
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Two electrons with initial speed 8 » 10° m/s are released into a space with magnetic field

B . The first electron is released along the X-axis and it moves in a straight line. The second
electron 1s shot from the origin along the Y-axis and it moves in a circle that intersects the

+Z-axis at z=-+18 cm. The magnitude and direction of B is

(.mE =9x107'kg)

E @O 08 BEHN EOAS wodoFhing I8 & Indw 8 10° m/s £0AS Bodk
QOFROD WITRENH. IS8 oo X-vf IS GBITVYT b 6By SrPod
WO, ol Qm@;5 Sare Doty 0ol Y-u§ &S L ©b J3)ET:Er5es” SO0l
+7-05d) 7 =+18 cm 3§ poBodod. B SoE, H03reSn 000 b

(m, =9x107'kg)

Options:

5x10*T, —X direction
ST, X Biiv

1 %

10 x 104 T. —Z direction
10x103T, —Z &%

10 » 10*T. —X direction
10 x 10T, —X &3

5 x 10T, +X direction

5 x 10T, +X 6%
4 &
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Consider a long solenoid carrying a current of 10 A. To get a magnetic field strength (B) of
& mT. the number of turns of the wire needed to wound covering a length of 30 cm 15

10 ADdogs Hardrdn o PEIS FBIrank Krd) HoKdodod. 8 mT echdm o B¢
Spg (B) Frodwds, 30 cm &Y sSirodamas 575008 81 by dopg
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A 2000 turns/m solenoid with a core of relative permeability 500 carries a current of 5 A.
Then the magnetic field and the magnetization are given respectively as:

1050008 500 Ko Jmgdn wodoidnd” EOAD

o

w8 tses® 2000 Wt KO, 0¥ oY
28 FBToNG Ko 5 Ao IS HITRNs. wdyd, wdbamod FEo Dodatn

©0i )0 SESe Jenden ISdEm

Options:

8000 x 10~*T. 8.52 x 10° A/m

1 %

6280 x 103T. 4.99 x 10° A/m
2

7780 x 10T, 3.29 x 10° A/m

T R

5680 x 10T, 2.25 x 10° A/m
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An air core solenoid of length 0.5 m and cross sectional area 25+10~* m? has 500 turns.
When the electrical circuit of the winding is opened, the current falls to zero from 10A n
m> 10~ seconds. The back emf induced in the circuit in “V” is

(The permeability of free space is given as 4= 10~ Tm/A)

0.5me &5 So8adn 25x10~4 Illzfncﬁgﬁtﬁé STogdn KOh 500 Hoheod) o8 FdTronk
©ogTHH0 MOT VoDBIH. Jgd Jodho DL I, Jdgs Paro 10A
oo IE\’)JJ:E% nx1073 5 0" H&F000d. S0oHoS® (LBSDHK 850Y J.o V od'
(657574 20RO 4nx1077 TM/A rr adiabod)
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In the given LCR current. with AC source of frequency 2 kHz. the capacitance C, of
the capacitor added in parallel to 1 uF capacitor to make the circuit resonant with the
SOurce, 1s

2y LCR Soosho&® 2 kHz F&:9dg0 o 957088 Jngd 2d8hn §dA0&0. SIS
1 HF 330068 ddrogdomr Cu3ardidl 500 S0oir) 288h08" edardlss 8orvol

Cp Dend
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Options:
0.25uF
1. ¢
0.5 uF
2 ®
3 ® i
1.25 pF
4 %
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A 8.8 mW laser is focused to a spot of 1 mm? area. If a 3 nC static charge is placed in the
focused spot. the maximum electric force experienced by it 1s

[Use e,= 8.8 x 1012 C*/Nm?]

8.3 mW Ba26 1 mm? Jreghins) Dok I¢& SodEstawod. 3 nC Mo J8 ez
5708 3008)8 Dot I& woNB @b Fold HBR Jgd wwo Jewd
[e,=8.8 x 1072 C?/Nm’]

Options:
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2/2x10° N
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A neutron and a photon have kinetic energy 100 keV and 50 eV, respectively. The ratio of
wavelength of neutron and photon 1s

(Assume mass of neutron = 1.68 » 1027kg. ¢ =3 x 108 m/s).

Srgers 0ok Perse K8=d8 Sbdm 100 keV Sodosn 50 eV. Segiers H08050
Firso 850MBYg G Dod?

(Srgers 855078 = 1.68 x 1027kg. ¢ = 3 % 10° m/s ©:5:8°$052)

Options:
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1015 x 16-°
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3.65 x 10

10.15 x 1077
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Consider a beam of electrons directed towards a crystal. if the crystal spacing is *5’°, the
de-Broglie wavelength for which the electron beam will be reflected back along the same
path. n being an integer, 1s

JOF PYoadon ABES0D HEFLN B, 188 voddntn b’ @ond, JVFTS Poudw

HoEEEB50 Tod ©d 8¥S° II§,CTTI8 GodSedS &-F'h SSoN3E o Deod
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The ratio of the electric potential energy that a proton in a nucleus experiences to that of an
electron 1s approximately of the order of

Noeg8oRS™R 1P Iogd PBe¥E 0Bk JoE pdudio

Options:
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The logic gate used to realize all other basic gates 1s

Lore REOS) Fodbirad &SRB NG &¢), oredan

Options:
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1 %

NOT

NOR

o R

A NAND
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Which of the following logic gate circuit has the following truth table
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The carrier wave is given by C(7) = 8sin (5nt) volts and the modulating signal is a square
wave as shown in the figure. The modulation index 1s

T8 dondn C(r) = 8sin (5mtr) SESRLOESY “’*ﬁé&gé‘éﬁuﬁ R}:ﬁjﬁ VAT Sonidnd od
DL0® Erdd AFormr HrdY, SrdgBis domsdn e
+3
V (Volts) 3
t sec
—g
Options:
0.6
1. %
0.375
o
q
s 0T
4
L % 267
Chermistry
Section Id : 49286340
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 40
Number of Questionsto be attempted: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 49286340
Question Shuffling Allowed : Yes



Question Number : 121 Question Id : 4928631561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The wave number of the third line of the Balmer series of hydrogen spectrum is

[R=Rydberg constant]

=

TEe

F

(R=20&=2§ %

.
i

TPOBS50)

4

580 Do

an
£4
a0,
LA
&
O
G
29
g
E"\
Cn
reuh
%
o3
%"\
&x
£
ik
&
(1
22

o

E

Options:

021 R
1. ¢

0.138 R

> R

0.18R

3 ®

022R

E

Question Number : 122 Question Id : 4928631562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The wavelength of the wave of a hydrogen atom moving with a velocity of 4000 ms™ is 2.
If the velocity of the hydrogen atom is changed to 2000 ms™. the new wavelength A, is
equal to

4000 ms'3608° $0BF TERS HBSrw0 SCorBY I AL TERS HSrmP Sio
2000 ms™  Sordy BohB TF SBorBg R0 A, BIE DHrSH0?

Options:
0.25 A



42,
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Question Number : 123 Question Id : 4928631563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The correct order for first 1onization enthalpy of Na. Mg. Al Si follows the order

Na, Mg. Al Si® 30068 ©ohEdn Jogrdyw ridoih Edosdn

Options:

Na<Mg=>Al<Si
1.9

Na>Mg=>Al>Si

> R

Na<Mg<Al<Si

5 ®

Na>Mg>Al<Si
4 ®

Question Number : 124 Question 1d : 4928631564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following statements are not correct?

a)
b)

c)

In a period electronegativity increases with increase in atomic number

The higher the electronegativity of the central atom in a polyatomic molecule. the
lesser would be the magnitude of the bond angle

Electronegativity of the atom would increase with mcrease in s-character of its hybrid
orbitals

The element with most negative electron gain enthalpy is fluorine

DSpOS® D HODII 5°H)?

2800&ES® DS Qopg D d0E Gea-ABog T 8 relebTabTa S TeTA
RIVDESr08 WNPS® Bo|FE DESre0Y) Bor AT EE WHEIB 20¢E D
D8ATe0 SiHdood

080880 whitrdes® s-fiwo DOA Fob H8Srd 8220 o gt B8 DB B0H

g8 Hm JoFS (Tirg 0Ty o Suroddn FoOI

The correct answer 1s

w08 e

Options:

O 237720

a.b

1%

a.b,d

o W

b.d

3

4 ®
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Number : 125 Question |d : 4928631565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct :

1 Wrong: 0



Statement (A) :
Statement (B) :

H8en (A):
D580 (B):

Isoelectronic molecules and 1ons have the same bond order

With increase in bond order, bond length decreases and bond enthalpy
1ncreases

D JOTS wmoHor $H80n ©Irled’ &8 wodED B0
RoFED0B0 WINTLL 20888 g0 SMS008 S8 206 JoFd)y
FeleSIeS T SIeTA

Which one of the following options correctly represent the above statements?

o0& i sod® 28 D dSEes &’)E}@Jc‘ﬁ&?

T

Options:

Statement (A) is correct, statement (B) is wrong

D58 (A) HBGNHB, 56 (B) 985088 57

1 %

Statements (A). (B) are comrect

Didden (A), (B) w0 S0G305D

>

Statement (A) 1s not correct and (B) 1s correct

DHGe2 (A) J0TRG 57, DT (B) S8THE

o R

(A). (B) are not correct statements

JH8men (A). (B) en $83308 579

4 %

Question Number : 126 Question Id : 4928631566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the most stable and correct structure of COC[2

COClzéa Sh el %ﬂ@é SO0 Nepoaty)] Hotu8od

Options:



t0—C=dl

I ..
4l 3 e
1. % SN
Cl=0-Cl;
LI ] I L ’
s
2. % L
0=0C=—Cl1S
T eow I L) :
HeH
2 .e
s 0—~C—at
B | L
L
4 ®

Question Number : 127 Question Id : 4928631567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ratio of relative rates of diffusion of N, and H, gases is approximately

N, So0as0 H, orainde 0§ o588 3o g Sodrdom
Options:
1375
1.9
1:14.0
o ®
- 1:28.75
1:42.0



Question Number : 128 Question Id : 4928631568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The root mean square velocity of an ideal gas at a constant pressure varies with density (d) as

& Jre Hore it SdHcrodn Fodd (d) & S8

EA

85850

£e7

Options:

- o
-~

4 &

Question Number : 129 Question 1d : 4928631569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Calculate the approximate mole fraction of the solute in 1 molar aqueous solution

] 3rerd 2oiTdnod” (TA8) Irderifdn drdm

Options:

0.036

1 %

1.80

o W

0.18

3 R

0.018
4 &
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Approximately how many litres 0f 0.25 M Zn(NO,), solution can be prepared from 75.6 g
of Zn(NO,),?
(Molar mass of Zn(NO,), is 189.38g mol™)

75.6 g Zn(NO,),&08 Sodrdom JQ) 9Ld 0.25 M Zn(NO,), (&rhea°q) SoirSHBcdbiiecs?
(Zn(NO,), 3rer6 (&Sgo-3 = 189.38g mol™)

Options:

L 16T

Question Number : 131 Question Id : 4928631571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find out the value of log K [K = equilibriiun constant] for the following reaction at 298 K
[Given A G° at 298 K =—13.6 kJ mol]

2NH, () 7CO,,) = NH,CONH,(, ) tH, 0y
298 K 3¢ (8od Hdg8 log K (K= 3508758 3070850) Jenddo B8 owhdn
[298 K& A, G°=-13.6 kI mol™]

2NH; ) +CO,( ) = NHyCONH,y () ¥H,O )

Options:

1.69

1 %

, o 2.38

4.76

o R



3.38

E

Question Number : 132 Question Id : 4928631572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements are correct for the reaction
SOQCIEEEJ = S0, HCly,) . at S00 K?

a) K >K
P C
b) Rate of the forward reaction increases with increasing pressure
c)  Rate of the forward reaction increases on removing ClL, gas
d) Rate of the forward reaction increases with decreasing pressure

500 K 5,

80,Cly;y = SOy ) +Cly ) SE5E0 0B DSEPOS® DD HOFPS?
) K >K

b) 2550 oS Fobd HSMT FBGEE0 DEHS08

) ClLodndd Soficds Fobd JHSFmL S6gotn Ddhdrod
d  DESS0 SHoDS Tod HEFTL $Eg8n RSN E08

Options:

a.b.d

1 %

, ¢ a.C.d

b.c.d

3 ®

a.d

4 ®
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A weak monobasic acid after treatment with 15 ml of 0.1 M BOH (base) has a pH of 5.
Volume of same base required to completely neutralize the acid is 30 mL. Calculate pK,
of acid.

15mle 0.1 M BOH (5852)& &8 w0 28578 eirds 8008 $thad pH dend 5.
wir) Jom émﬁgéao:ﬁ:ﬂé} HORN 98 Y Hodd8dreesn 30 ml. w2y pK,; &

Eé&uzﬁaa’na

Options:

3.3

1 %

4.5

> R

Question Number : 134 Question Id : 4928631574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the boiling points of H,O and D,O are (HED]bp and (DzO)h1J and the vapour pressures of
H,O and D,O are (H;,O)Vp and (DEO)@- which of the following is correct?

H,0 %0050 D,0 o eringfss Fores (Hy0),, 508050 (D,0),, H,0 H:8ai0 D0 ©
gRyedTor (H)0), 58050 (D0),, 23 o 78S 26 H8G0IH?

Options:

(H,0),,=(D,0),, . (H0)_=(D,0)

v v
| % P P

(H,0), <(D,0), . (H,0)_>(D,0)

p P
o

(H,0),,>(D,0), . (H,0)_<(D,0)_
3 ®



(Hzo)bp <(D,0),,- (H,0)  <(D,0)

4 ® " P

Question Number : 135 Question Id : 4928631575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Anhydrous calcium sulphate is called

EJ"E 590 @53&5;“59 DA0trdy?

Options:

Gypsum

Plaster of Paris

IR0 @ FOQ

Dead burnt plaster

- - E
- & a8g Ty

Portland cement

é’;"‘gﬁﬂ"oﬁ TN ulol ]

Question Number : 136 Question Id : 4928631576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

B(OH), forms a layered structure in the solid state. Which statement best describes the
bonding of oxygen atoms in this structure?

2538 B(OH), rdo 3070 Q) 28160008, & Q0°)200e5°Q es§jas H85rand o ©omrs

[3¥)

H0200800 B80d VPSS’ & Som D8[0H?

]

Options:



1. %
Each oxygen atom is bonded to two hydrogen atoms through hydrogen bonds
R8 sfius H0drny Tod wWhdae SddrmamdHoin W@ R OTO T30

p0odnd Sod

2
Each oxygen atom 1s bonded to one hydrogen atom through covalent bond and another
hydrogen atom through hydrogen bond

08 sfHad HSdrany 8 T ERe DS Fordodl 2oFQ) w8 TER

HES5re0PE TERS woTW) K08

T W

50% of the oxygen atoms are attached to two hydrogen atoms through covalent bonds
and the remaining 50% to two hydrogen atoms through hydrogen bonds

50% sfae HSSremHen Sod TFee WSSrIHos Fordodl oo IO
VEE)Q olron DBcn rer 50% s§ue Sddroder Tod T FRQ

DESrenHod TIEFRQ woTw THoT BE) I oo

4 ®
Each oxygen atom is attached to two hydrogen atoms through covalent bonds
D8 e8zl J8Ir0d) Todo WhEae Jddroed Fadod] wore oo

wofovind GotIown

Question Number : 137 Question Id : 4928631577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

Which of the following compound has a smooth structure with no dangling bonds?

o TBS* o oo D8 A wogren (dangling bonds) B g JomyErd) ¥OA
€ 0e0ok?
Options:

Diamond
1 %



Graphite

o W

. » Coke

i
4

60

Question Number : 138 Question Id : 4928631578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements is not correct?

808 JSEeS® HBGRBE 7B A8?
Options:

Ozone 1s not a green house gas

LE'S 588 M TSNP TH
1. ¢

Ozone can oxidise NO to NO,

L&'Q NO & NO, ™ s8§8dmo Ddood

Ozone 1s a bent molecule

L8N ol 5B wend

Ozone filters the ultraviolet light in upper stratosphere

£,

LEQ &gl (T H000ST 08odTTd D88mrodn gd Bl
4 ®
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The mixture of isomeric products obtained on nitration of phenol are separated by the
following method

DTS JBVAS 2RI IHES 0P G TY)e DEFSTY) Bod HE8ST ST
Options:

Crystallisation

é&éﬁééﬁ?ﬁo
1. %

Steam distillation

2O "'53555 S0
o

Sublimation

ﬁé&é:‘ﬁo
=3 ®

Differential extraction

Do Y beo
4 ®

Question Number : 140 Question Id : 4928631580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Kolbe’s electrolytic reaction of sodium salt solution of hexanoic acid gives the following
major product

TE T8 B FEAo ole @) §'8) IdoghiIde FIg 2HDM W) BN

sl 24
&N fod FES
Options:
n-dodecane

n-&a@se
1 %



n-decane

- N-Gse

n-hexane

— _!g ="
11- (=¥ \I ".'\.:'
[i¥)

n-pentane

N-wode

Question Number : 141 Question Id : 4928631581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following reactions give an aromatic compound?

Bod Wigos® wFirts H3)ETY) NI AD?

& )
OH |
@
a) I
o n/Cu
b) CH;0H/A
Br
Eh-.
3 KOH/C,H.OH
conc.H,S0O,
a 3(CH;), CO i2 >
Options:

a.d
1.9



b.d

Question Number : 142 Question Id : 4928631582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

List-I List-II
(a) Metallic (1) CaF,
(b) Covalent solid (11) SiC
(c) Non-polar molecule (i) H,O
(d) Iomic (iv) L
(e) Polar molecule (v) Ag
(vi) Ar

Bod T8 22808050

erfdee-1 erfoe-11
@) & (i) CaF,
(b) FTBo& ddmdo (1) SiC
() oEghd @ (1) H,O
(d) oosra8 iv) L
(©) (&5 weod v Ag
(vi) Ar

The correct answer 1s

N wouN arew

Options:



@ ® @ @ @
v @ @ @ (@)

1. ¢
(a) (b) (c) (d) (e)
(v1) (1v) (11) (111) (1)
(a) (b) (c) (d) ()
) (i) @Gv) (@) (i)
z %
(a) (b) (c) (d) (e)
L x (v) (iv)  (vi) (1) (1)

Question Number : 143 Question 1d : 4928631583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The ratio of any colligative property for KCI solution to that of sugar solution of same
molality is

28 Jwerdd Heo KCl mhnsin Hocn &85 @darod I8 §arpd oo g

Options:

(S
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If the osmatic pressure of human blood is 7.53 atm at 37°C. calculate the concentration of
non electrolyte solutes in the blood?

37°C 58 Srd9hR 68D ETDd8e 2SS0 7.53 atn wond $¥os™ eddigd g
TlEre mESo 88 owodw

Options:

0.296 mol L!
1 W

0.592 mol L1
o %

1.12 mol L1

3 R

1 mol L1

Question Number : 145 Question Id : 4928631585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the electrochemical conversion (Kolbe's electrolysis) of R-COONa to R-R. 1A current
was passed for 965 seconds. Calculate the amount of R-R formed in this process

(Faraday constant = 96.500 C mol?)

R-COONa $0& R-R & Déogs darohsd Sr0yé (878 g 3deekn)s’, 1A $8otnd
965 ¥0d e BoLoT. & BEOHS” A6YES R-R $05rerd) 88,0808
(88 porogo = 96.500 C mol™)

Options:

10 m mol
1 ®

5 mmol
o

100 m mol

3 ®



50 m mol

Question Number : 146 Question Id : 4928631586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

For a reaction the activation energy is zero. What 1s the value of rate constant at 300 K.
[Givenk,_ .., =1.6 x10%s; R=28.314 Jmol K]

280 K

2§ SO wBed 9§ Do), 300 K 5¢ $858en porossn Jod?

—

[k,ox = 1.6 x 108 s71: R =8.314 T mol™! K 25356

Options:

20 x 1.6 x 10%s7!

10 x 1.6 x 10°s71

o R

1.6 x 10° s
3 v

Question Number : 147 Question 1d : 4928631587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following represents chemisorption?
(x = The mass of the adsorbate, m = Mass of the adsorbent)

§od TES® D Jrad ©EFTRIR) drQTon?

(x = wfFado G507, M= ©HFTRB0 (GD550°3)

X
a) —
m
IK)
X
h) m
T(K)
X P = Constant
¢) m
time
' & Constant high T
m
d)
time
Options:
a.b.d
1. %

a. C



b.d

3

b.c.d

4 ®

Question

Number : 148 Question |d : 4928631588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct :

1 Wrong: 0

Gibbs free energy change for the formation of Al,O, and MgO at 25°C are approximately
—1040 and —1080 kJ mol™! respectively.

Whic
a)
b)
c)
d)

25°C

h of the following statement(s) 1s (are) correct for the above data?

The reduction of MgO by Al is thermodynamically feasible at 25°C

The reduction of Al,O, by Mg is thermodynamically feasible at 25°C

Aluminium can be extracted from Al, O, by mixing it with Mg at 25°C. but it is slow
Magnesium may be extracted from MgO by mixing it with Al at 25°C

58 ALO, 53805 MgO o oryenso A& T #8e° Srdoy S0 —1040 $080500

—1080 kI mol!. & $er078 How0dod Bod JSEpoS® G () JH8BSH (D)?

a)  25°C 3¢ e&{nes egddomr MgO & Al & gosodmo mDoBsws)
b) 25°C 3§ &ui88 w3380 ALO,& Mg & gohsdmo maolSuy)
¢) 25°C 3¢ AlLO,8 Mgd 882, vorgddobodd ALO,&o0s dofremo e IS b
T 0058
d 25°C $& MgO & Ald §0%, Dofjachos MgO £0é doidreao Sapssy)
Options:
b
1 #
a
o ®
b.c
3
a,d
4 ®
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Statement (A) : Aqueous PCL, is an electrical conductor due to the formation of HCI
Statement (B) : All five bonds of PC 15 are equivalent

DG (A): 2o PCL e Ddogs orgdn Jokosod HC]:Dﬁ;]Ca}ﬁJ S0

D58 (B): PCL &° o) wozren S855w

Which of the following is true?

& Bod TES' B HOBIH?

Options:
Statements (A). (B) are correct

DHGen (A). (B) 0o 2883085
1. %

Only statement (A) 1s correct

DG (A) SrE DOGSE
2

Only statement (B) is correct

D580 (B) S $65058

Statements (A). (B) are not correct

, D38pen (A). (B) oo 365080 589
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When dilute ferrous (Fe?") salt solution is added to an aqueous solution containing

nitrate (NO;] ion followed by the addition of conc. H,SO,4 forms a brown colored ring.

What is the chemical composition of the complex that is responsible for this brown
colored ring

SBE (NO;3) scirStio soEsards 905 DS (Fe?') obn @Smr) §00S S8

g H,SO, 8008, o Bhd Soih o Socho J8eEod. & Bid Soi Sedkho
AL S 8Fd DoIRY) SFTchd DoPotdsn A&?

Options:

Fe(NO,),

'[Fe(ﬂgo ), (NO)|™

[Fe(H,0), (NO,) |

3 ®

[Fe(H,0), (NO)(NO,) |

Question Number : 151 Question Id : 4928631591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the set of elements which do not exhibit multiple oxidation states

250¢ e§8dn Yo 6NN Sroste BBl Kfowibn

Options:

Sc. i

1%

Mn. Cr
o W



Inx

n. Sc
g o

Question Number : 152 Question Id : 4928631592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
The number of bridging carbonyls respectively in Mn, (CO), , and Co,(CO), are

Mn,(CO),, 508050 C0,(CO); 0e* 3768 576 3Sw Dopgen S

Options:

0.0

1 %

o ® L1
3. % 1.0

A 0,2

Question Number : 153 Question Id : 4928631593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The natural rubber is soluble in the following

Qe S0 (508 TRST B dod
Options:

Water

&0
1. %

Dilute acid

DO e (TS0
2 ® -



Dilute alkali

QOI T8 [0

Z
Benzene
Dodo

4

Question Number : 154 Question Id : 4928631594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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According to classification of amino acids. lysine belongs to the following

QDT widre $086n @B57do, Toa Bod T8 Botbdod
Options:
Acidic amino acid

25530 DD @300

Basic amino acid
50 Qe &0
= W e

Neutral amino acid

S IS B0

Non-essential amino acid

i

BINIGE JDT @0

Question Number : 155 Question Id : 4928631595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Furacine is an

ToOR s

Options:



Antibiotic
gSrotSadBre3s

Analgesic

, x ITEEDE

Antihistamine

BrodSrddos

Antiseptic

_, BrotS s
4. e
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Match the following
808 FEBD =EHSTod

Liast=1 List <1l
e -1 2rfar - 11
OH ~ NaH .
a 1 1
(b) g\ﬂl’ KOH/C,H;OH } (ii) E,
Br
OH
® i g,
(d) QA H (iv) Sy2
Br

The correct answer is

w0 2900m 23577200

Options:

(a) (b) (c) (d)

i) @v) (@) (1)
1. %

(a) (b) (c) (d)

LW ) @ @

2.



(a) (b) (c) (d)
e W) @) (D) (i1)
(a) (b) (c) (d)

i) @ @G v

4 ®

Question Number : 157 Question Id : 4928631597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

Identify the correct sequence with respect to the mechanism of hydration of an alkene in
the presence of a dilute acid

a)  Nucleophilic attack of water on carbocation
b)  Protonation of alkene by H30@ to form carbocation
¢)  Electrophilic attack of H® on alkene

d)  Deprotonation of protonated alcohol
e) Electrophilic attack of water on carbocation

DOF 550 HEoS® B&).S B, TBAN FT°g VG0 A HOFS e b0 hHfotod
) SEFLErSD IS DY SrgiRrHos od

b) .H3O@ & )8 P00 Dok TEHTLETrS ABYEL0

0 wb5p H® g, dogHos b

d EPE[EE s Hod Prs FohoR

¢) soiTarSp H,0 oo, dognos oa

Options:

- c.e.d



c.a.d

Question Number : 158 Question Id : 4928631598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is Z in the following reaction sequence?

HBr .. Mg/diyether ., 1) Propionaldehyde
ethylene > X 5 ¥ NHO® >
Bod Worg edoEsdnos® Z J00es?

.=« HBr . Mg/aé 36  DL@odrsdosrs
288 > X = > Y S 7
= 2)H,0®

Options:
% OH

/\/\/ o
o ®
OH
3 ®
OH

4



Question Number : 159 Question Id : 4928631599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The order of rate of hydrolysis of the following acyl chlorides with NaOH 1s

NaOH &' (§ob I35 §880 modibm Sogdf Edosn

G, & 0 Cl 0 Cl
NO, Cl
I II I
Options:
| 1= =1
N=1>1II
o %

Hi=1I=>1
3

[>II>1I
4 o

Question Number : 160 Question Id : 4928631600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The order of basic strength of the following in aqueous solution 1s

$od %2l T8 zoEmdsre Fie (B0

NH;, C,H,NH,, (C,H;),NH, (C,H;),N

Options:



(. H. ]3 N=(C,H, )2 NH>C,H;NH, >NH,

1. %

(C,Hs), NH>(C,H; ), N>C,H;NH, > NH,
2
. (C,H;), N>C,H,NH, >(C,H,), NH>NH,

NH, >H,NC,H; >N(C,H;), >HN(C,H;)

4 %

2
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Answer

Q.No.

121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143

144
145

146

147

148

149

150
151
152
153

154
155

156
157
158
159
160

Answer

Q.No.

81

82

83

84
85

86

87

88

89

90
91

92

93

94
95

96

97

98

99
100
101
102
103
104
105
106
107

108
109
110
111
112
113

114
115

116
117
118
119
120

Answer

Q.No.

41

42

43

44
45

46

47

48

49

50
51

52
53
54
55
56
57
58
59
60
61

62
63

64
65

66
67

68
69
70
71

72
73

74
75

76
77
78
79
80

Answer

Q.No.

10
11
12
13

14
15
16
17
18
19
20
21

22
23
24
25
26
27

28
29
30
31

32
33
34
35
36
37
38
39
40
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